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Question 1 of 50

Which one of the following statements is not true about living things?

A) Living things reproduce

B) Living things do not die

C) Living things respond to changes around them

D) Living things need food air and water to survive
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Question 2 of 50

A) 1

B) 2

C) 3

D) 4

Question 3 of 50

Which of the following pairs of animals have the same type of body covering?

A) Sparrow and Crab

B) Tiger and Turtle

C) Squirrel and Snail

D) Fish and Snake
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Question 4 of 50

A) P

B) Q

C) R

D) S

Question 5 of 50

Mrs Lee added something to enable milk to turn into yoghurt. What could she have added?

A) mould

B) fern spores

C) mushrooms

D) bacteria
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Daniel conducted an experiment using three similar pieces of bread. He placed them on
separate clean plates and left them on the kitchen table. 

 
After 2 weeks, Daniel observed mould growing only on the fresh bread and moist bread.
What is the most likely reason for his observation?

A) Mould cannot grow without water

B) Mould cannot grow without light

C) Mould can only grow with air

D) Mould can only grow after being put in the oven
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A) 1

B) 2

C) 3

D) 4
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A) W

B) X

C) Y

D) Z
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A) 1

B) 2

C) 3

D) 4
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A) Brand A

B) Brand B

C) Brand C

D) Brand D
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A) A and D only

B) A, C and E only

C) B, D and E only

D) A, B, C, D and E 
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Question 12 of 50

A) mouth and lungs

B) mouth and heart

C) nose and lungs

D) nose and heart

Question 13 of 50

Which body system has been correctly matched to one of its function?

A) Digestive system and skeletal system only

B) Digestive system and circulatory system only

C) Skeletal system and muscular system only

D) Digestive system, muscular system and circulatory system only
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In which set-up, A, B, C or D will the cockroaches die in the shortest time?

A) Set-up A

B) Set-up B

C) Set-up C

D) Set-up D
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A) 1

B) 2

C) 3

D) 4
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A) The roots store food in the soil X

B) The roots hold the plant firmly to the soil

C) The roots absorb water and mineral salts from the soil

D) The roots transport food and water to all parts of the plant
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A) 1

B) 2

C) 3

D) 4
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A) 1

B) 2

C) 3

D) 4
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A) nail A is made of steel and nail B is made of copper

B) nail A is made of copper and nail B is made of steel

C) nail A is made of steel but nail B is made of iron

D) both the nails are made of steel
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A) P only

B) R only

C) R and S only

D) P and Q only
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Question 21 of 50

Question 22 of 50

Difference:

Question 23 of 50

Which group of animals do both the animals belong to?
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A) A

B) B

C) C

D) D

E) E

F) F

G) G
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Question 25 of 50

From the flowchart, which animal (s) is/are fish?

A) A

B) B

C) C

D) D

E) E

F) F

G) G

Question 26 of 50

Suggest which of the animals in the above classification diagram represents a crocodile?

A) A

B) B

C) C

D) D

E) E

F) F

G) G
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Question 27 of 50

A) Leave on Plant A will grow bigger.

B) Plant A will die but plant B will grow

Question 28 of 50
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Question 29 of 50

Question 30 of 50
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Question 31 of 50

Question 32 of 50

They can grow on leather objects

A) True

B) False

Question 33 of 50

They only need air to grow well

A) True

B) False
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Question 34 of 50

They grow very well in shady and moist conditions.

A) True

B) False

Question 35 of 50

They do not grow well in dry conditions.

A) True

B) False

Question 36 of 50
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Question 37 of 50

Question 38 of 50
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Question 39 of 50

Question 40 of 50

A) P

B) Q

C) R

D) S
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Question 41 of 50

Question 42 of 50

A) A

B) B

C) C
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Explain your answer.
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Match the options below:

1. [    ] A. Z

2. [    ] B. W

3. [    ] C. Y

4. [    ] D. X
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Question 45 of 50

1. [    ] iron A. x

2. [    ] glass B. y

Question 46 of 50
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Question 47 of 50

Question 48 of 50
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Question 49 of 50

straw: _____

Question 50 of 50

balloons: ____


